oS 2ol sx o] T71E Fotolah,

o A
25 A

25
e’ A
B D C

AADC o] A
Lx = (180° - 50°) = 2 = 65°




th 173 o] AABC 7h FolAe w, x, y ] gHe?

® x=6,y=50° @ x=7,y=45°
@xz?,y:50° @ x=7 y=65°
® x=8, y=50°

ofl

/ACB = 65° 0|22 AABC = o]SHAZIH o[t}
Lx=7
12831y =180°-65°%x2=150°




the a3} Zol 4C = 90° Q1 A zHAatzt
ABC 9|4 AE = AC, ABLDE ¥ W}, D
Zol& oo,

AAED 9} AACD oA

AE = AC, /AED = /ACD,
. AAED = AACD (RHS %+
- DC=ED =5 (cm)

i
rr
o
oft




4. o5 IHT E2 aABC 9 HWol7t 6em® & off, WA H 2 REAE27?

©1cm @ 2cm ® 3cm @ 4cm ® 5em

Yy Qe A4S A 12k1 1, AABI, AIBC, AICA 9] o]
_ 1
WAL gtz Eolnt, WYl ¥ix]52 x = oFH 5(3 +4+

5)x =16
. x=1lcm




o2 19 AD
O]EE::TL}}—S— AABC |4 AD = /A 9
sXolal /B = — K5° T
3717 o mrE e i
D 70°
@ 75 ® 80° plBs [N 55]
5 C

@ 85° ®)90°




I-HANA x+y7t

o
=

=

6.

® 71~75

@ 66 ~ 70

@61 ~ 65

® 81 ~85

@ 76 ~ 80

T x+y=55+6=061




(h

® (¥h)45 °

@(UP)?)O °

@ (o} 60°

@ (7}) 15°




RS
do
lo
ot

2

S8 /XOY 9 o]5 & A
, OY o Y&l =49 drs Z+24A, B
Yot Y olth. O~@9d 014 7

[718]2AOP = (@),

(PAO = /PBO = 90°

28] (0)=(©)

[ H]aPOA 2} APOB ©f| 4

(AOP= (@) @

(@®)=36©®

/PAO = /PBO =90° "+ ©

@, ®, ©°f 2514 APOA = APOB (( ® ) &%)

L(O©)=(0)
O @/BOP @ ©OPA ® ©PB
@ ®@0P ®)@SAS

APOA = APOB & /AOP = /BOP, OP & &%, /PAO =
/PBO = 90° 0|22 RHA ¥&-=o|t},




e 1988 B, e = 3771 e Z7]E A
T2 Zlo] opd A2?

O AO =0C

@ AF = CF

® /OEB = /OEC
@ /OBE = /OCE
@ADOB = /FOC

/DOB = /DOA ©°]1 /FOC = /FOA o|t},




@ 3 ® 4 @)5 ® 6

D 2

1719 ABC 9] 9JAlo|ln g
MC ©]tt.

M2 2Zb4d
MA = MB = MC

el

~MC=5




11.

the 1904 3 I+ aABC 9] Yi4e]x DE//BC ¥ w, AABC 9
=98] dol=?

@ 46cm @ 47cm ® 48cm @49cm ® 50cm

B ~
A 17} WAe]a DE//BC € M,
DE =DI+EI =DB + EC 0|2
DB + EC = 12(cm) ©]t}.

w2k AABC 9] E89] Zo]= AD + AE + DB+ EC+BC =
10 4+ 6 4 12 4 21 = 49(cm) ©]t}.

=




=7
@ 4cm @ 4.5cm 3®)5cm
@ 5.5cm ® 6em

/QAC = /CAB (Z°]
LQAC = /ACB (%7})
. /CAB = /ACB
uteta] AABCE ©2He] 37]7F 211, AB = BCQl o] 5H4t
Folrt.

. BC =AB = 5cm

I~




13.

the 199 AN H 0 = AC ¢ FHY o, x o) 2712

>

T 7B

ol

@® 32° @ 35° ® 38° @ 42° ® 45°

2741719 ) Mwle] 7890 4 0 & 914lo] 2 OB = OA =

/AOB = 180° — /COB = 110°
AAOB £ o] 5RIdZIgo|B 2 (- OA = OB)
/OAB = /OBA = 35°




14. o2 O"A A O & aABC 9] gJ4ilojrt,
/OAB = 25°, /OBC =40°¥€ o, ,C 9 2
71 =7

O 45° @ 50° @ 55°

@ 60° @65°

252

40°

os)

Q

B

OC EojoH

LOAB + £OBC + £OCA = 90° 0|22
25°+40°+ LOCA =90°, ZOCA =25°
/0OBC = /0CB =40°

. £C=/0CB+ /tOCA =65°




15. oS TJgEoA 9 0= AABC Y A Yot} /OCB = 35°Y 1,
(BAC 9] 37]& FFotofz}.

A

[ 2
> ™eh: 55°

AOBC+ ol sHAZgo|lnz
/OBC = /0CB = 35°
/BOC = 110°

AABC A /BAC = %ZBOC = 55°




16.

o 2™l A TE aABC | Aol /A =88° < off, /BIC 9
A71E?

D 44° @ 67° @ 84° @134° ® 176°

B ~

1
H17F aAABC O AL o, /BIC =90° + ngo]E}.

1 1
g ABIC:90°~|—§AA:90°~I—§x88°=134°




17.

AOAE 9} A OAG A

OA:3Z%.--0

LOAE = OAG---©

/OEA = /OGA =90°---®

A, ©,0°1 23] AOAE = AOAG(RHA) --- @
AOGC &t AOFC 9|4

oCE 350

£0CG = OCF---©

/0GC = £tOFC =90°---©

@, ©,©°1 23] AOGC = AOFC ---©

okt @, @ ©f %ﬁ@:ﬁ:ngcm
OE + OF + OG = 2(cm) ©|th.




18. o& 2dHA A I+ aABC o HAolth zx + 2y o A7]& -5t
ofzt.

A

iy
o

AABC A /IAB = /IAC = q,

/ABI = /CBI = b2} 574},

2/a+24b+74°=180°

Sola+ Lb=53°

Lx+ Ly = (La+T4°) + (Lb+T4°) = La+ £b+ 148° = 201°




Ll

19. oS T4 B 11 aABC 9 WAlolth of o, BD o] de] x
afolat,

| 2
> HE: 11cm

H 17y A2 o] YAlol22 AD = AF,BE = BD,CE = CF
o|t}.
BD=x=BE°/PE2CE=18-x=CF, AD = 16 — x = AF
o|tt.

AC=AF+CF=18-x+16-x=12

sox=11(cm)




20. #7471 ABC o 91499 ¥Ago] 15, WA wAEe] 6
o, 1714374 ABC 9] Wols Fatelal,

1] ah3 2 of,
AE=AF=a&3tHAC=0a+6

AB =2BO =30°|22
BD=BF=30-a

-~ BC=BD+DC=(30-a)+6=36-a

. AABC = L (AB + BC + CA) x 6

zéx{30+(36—a)+(a+6)}><6
=216




